U5 Day 2 Group Work Filled.notebook November 06, 2018

HW 5 - 1 Answers

1. 3(x®-2)(x +7) 2. (5y + 7)(2x + 3)

3. (Xx+9)(x*-2) 4. (Ax-1(x+7)

5. -9(2x + 3) 6. (3x +4)(2x - 3)

7. (4x + 1)(2x - 3) 8. (X-5)(x+ 1)(x-2)*

9. (5-x)(25+5x+x*) 10. (2y?- 3)(4y* + 6y +9)
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Factor each of the following:

1. 3x%+21x%-6x-42 2. 10xy+14x+ 15y + 21
= 3XY(x+7)- 6(X+7) =2%x(5y+7) + 3(5Y+7)
-Bx%-0)K+7) = (BYy+7)(2X+3)
= 3(X2-2)(X+7
3. x3+9x%-2x-18 4 (4x-1)(3x+2)-(4x-1)(2x-5)
= x3(x+9)-2(x+9) = (4x- N (3x+2 - (2X-))
s (x+9)(X*-2) = (x-1)(3X+2:2X+3)

= (dx-1) (X +7
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5. (2x+3)(x - 4) - (2x + 3)(x + 5)
= (2x+3)(x-4-{x+5))
= @2%X+3)(x-Y-%x-5)
= -9 (2%+3)

?:—24

7. 8x2-10x -3 S: =0

-12,2

= INZ12X+2X -3
- Ux(2X-3)+1(2X-3)
= (2x=(Ux+1)
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p:-72

. -
= |

—q) ®

6. 6x%-x-12

= bX:9qx+8x-12
= 3x (2x-3) +4(2x-3)
= (2x-3)(3x+4)

B (x2- f—;gf_,: (&2;4;() -ioqx
u*-u-20
= (U=-2D(U+E)
(x2-4x-5)(x2-Ux+4)
- (% sYx+1)(x -ZB(X;Q)

= (x- K+ X-2)
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9. 125-x3 10, 8y®-27
r=5 a=2y
b=X b=3

(5-x)(25+5x+x2) (2y-3)(4y+ Yy +9)
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tricky, tricky
13.y°-64 oTS =)

(¢28)(g-8) =% 3

( \51-3)(\53—23-\'""\52‘3-3 (47 +2y +H
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